AE[QIIA AR S7F I
=3 dY/HIE o[o] x|

Foi x|

€.

~

RAL7021 RAL 2004 RAL 1021 RAL 3020

z =M E2fe 87 gt =4

~

RAL 5017

€2
«

RAL 6032 RAL 7035

© HEINRICH KIPP WERK GmbH & Co. KG

A

2

[ ==

X

43

HE MY

QlHA ZHXE HE
?l& AFSELC,
= HHE 180° E2|
F 4 QIAIEILICH.
F MZ &2 &2 Hh7t o] lxlol

2 MEfE fXIHES FLICH
XHE:

ZH=2 H} 1.4308.
LIA &E212 & &2
orad A2l 1.4310.

PA &7tad &= HE A

2o

M ESE

=1
[== Ty =

o

I ot

o

£l 1.4305.

EMopRa]:

LIAF &2l2, of=
. o
[ e e |

al 7

= B9
HFEl.

AH R}

ALY M 5

2, 940k & A4 0
Choreh A{Zrol B bt Z:
Rle 5

- &2 3|M RAL 7021.

2 = Hh.

II_|>{

b 2HAH RAL 1021.

w7+ A RAL 3020.
=AM RAL 6032.
I} 2t M RAL 5017.
i RAL 7035.

=~

|
-

R >

r~

luf}

%2 Sot3.
0IA|_||:|._

=2 T AAHE

x|= ASELc

>

MMIAME]:
Bjo|& 2 & K0638.
EZ XM 24 K1290, K1839, K1840.

EMH MY

EFRl A: B HE 7 81, B LIE 98
Etel B: &3 b 7 918, &3 LE US
Etel C: &3 B T /2, B3 LE 9
etelD: &3 B 7 9!8, B3 HE g

www.kipp.com - info@kipp.com 1/8



°
2 E|QI2|A A8 S22 Q1A SRIX
=0
® i © . ®
N 4[] SNEDE
Swi
& L sw2 = ﬂ
i o3 §
D35 l—ll’-l
l_ﬂ_i
{C==== T ) %: )
= i S
Z= 29
3 EE
FEHS Etel THE MY D D1 D2 L L1 L3 B BT H Fx30° SW1 SW2 A[Ef By
Bty 5=
F19. N F29. N
K1680.1040410 A - 4 M10 10385 25 15 9 3 6 1 10 - 8 14
K1680.1040510 A 5 M10 10385 2515 9 3 6 13 10 - 8 14
K1680.1040610 A - 6 M10 10385 25 15 9 3 6 18 10 - 8 14
K1680.10404101 A - 4 M10x1 10385 25 15 9 3 6 1 10 - 8 14
K1680.10405101 A - 5 M10x! 10385 25 15 9 3 6 13 10 - 8 14
K1680.10406101 A - 6 M10x1 10385 25 15 9 3 6 18 10 - 8 14
K1680.1040512 A - 5 M12 12474 30 19108368 13 12 - 8 15
K1680.1040612 A - 6 M12 12474 30 19108368 18 12 - 8 15
K1680.1040812 A - 8 M12 12474 30 19108368 23 12 - 8 15
K1680.10405121 A - 5 M12x1,5 12474 30 19108368 13 12 - 8 15
K1680.10406121 A - 6 Mi12x1,5 12474 30 19108368 18 12 - 8 15
K1680.10408121 A - 8 M12x1,5 12474 30 19108368 23 12 - 8 15
K1680.1040616 A - 6 M16 16 61,2 40 26 1444810 18 16 - 15 35
K1680.1040816 A - 8 M16 16612 40 26 1444810 23 16 - 15 35
K1680.1041016 A - 10 M16 16 612 40 26 144 4810 28 16 - 15 35
K1680.10406161 A - 6 M16x1,5 16 61,2 40 26 1444810 18 16 - 15 35
K1680.10408161 A - 8 M16x1,5 16 61,2 40 26 144 4810 23 16 - 15 35
K1680.10410161 A - 10 M16x1,5 16 61,2 40 26 144 4810 28 16 - 15 35
K1680.1040820 A - 8 M20 20 71 50 30 18 6 12 23 20 - 20 60
K1680.1041020 A - 10 M20 20 71 50 30 18 6 12 28 20 - 20 60
K1680.1041220 A - 12 M20 20 71 50 30 18 6 12 3 20 - 20 60
K1680.10408201 A - 8 M20x1,5 20 71 50 30 18 6 12 23 20 - 20 60
K1680.10410201 A - 10 M20x1,5 20 71 50 30 18 6 12 28 20 - 20 60
K1680.10412201 A - 12 M20x1,5 20 71 50 30 18 6 12 3 20 - 20 60
K1680.1050410 B - 4 M10 10385 25 15 9 3 6 1 10 17 8 14
K1680.1050510 B - 5 M10 10385 2515 9 3 6 13 10 17 8 14
K1680.1050610 B - 6 M0 10385 25 15 9 3 6 18 10 17 8 14
K1680.10504101 B - 4 M10x1 10385 25 15 9 3 6 1 10 17 8 14
K1680.10505101 B - 5 M10x1 10385 25 15 9 3 6 13 10 17 8 14
K1680.10506101 B - 6 M10x1 10385 25 15 9 3 6 18 10 17 8 14
K1680.1050512 B - 5 M12 12474 30 19108368 13 12 19 8 15
K1680.1050612 B - 6 M12 12474 30 19108368 18 12 19 8 15
K1680.1050812 B - 8 M12 12474 30 19108368 23 12 19 8 15
K1680.10505121 B - 5 Mi12x1,5 12474 30 19108368 13 12 19 8 15
K1680.10506121 B - 6 M12x1,5 12474 30 19108368 18 12 19 8 15
K1680.10508121 B - 8 M12x1,5 12474 30 19108368 23 12 19 8 15
K1680.1050616 B - 6 M16 16612 40 26 1444810 18 16 24 15 35
K1680.1050816 B - 8 M16 16612 40 26 144 4810 23 16 24 15 35
K1680.1051016 B - 10 M16 16612 40 26 144 4810 28 16 24 15 35
K1680.10506161 B - 6 M16x1,5 16 61,2 40 26 144 4810 18 16 24 15 35
K1680.10508161 B - 8 M16x1,5 16 61,2 40 26 144 4810 23 16 24 15 35
K1680.10510161 B - 10 M16x1,5 16 612 40 26 144 4810 28 16 24 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/8



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

°
ZHQIYI A& AR F2ZF QI A SR
EZS 29
FEHS Et THE MY D D1 D2 L LT L3 B BT H Fx30° SW1 sSW2 A% Ehd
Bt =2
F1 9 N F29. N
K1680.1050820 B - 8 M20 20 71 50 30 18 6 12 23 20 30 20 60
K1680.1051020 B - 10 M20 20 71 50 30 18 6 12 28 20 30 20 60
K1680.1051220 B - 12 M20 20 71 50 30 18 6 12 3 20 30 20 60
K1680.10508201 B - 8 M20x1,5 20 71 50 30 18 6 12 23 20 30 20 60
K1680.10510201 B - 10 M20x1,5 20 71 50 30 18 6 12 28 20 30 20 60
K1680.10512201 B - 12 M20x1,5 20 71 50 30 18 6 12 3 20 30 20 60
K1680.1060410 C H3|M RAL 7021 4 M10 10395 26315109496 1 10 - 8 14
K1680.1060510 C H3|M RAL 7021 5 M10 1039526315109496 13 10 - 8 14
K1680.1060610 C H3|M RAL 7021 6 M10 1039526315109496 18 10 - 8 14
K1680.10604101 C H3|M RAL 7021 4 M10x1 10 39,5 2631510949 6 1 10 - 8 14
K1680.10605101 C H3|M RAL 7021 5 M10x1 1039526315109496 13 10 - 8 14
K1680.10606101 C H3|M RAL 7021 6 M10x1 10395 26315109496 18 10 - 8 14
K1680.1060512 C #H3|4 RAL 7021 5 M12 1248431,119129578 13 12 - 8 15
K1680.1060612 C H3|M RAL 7021 6 M12 1248431,119129578 18 12 - 8 15
K1680.1060812 C H3|M RAL 7021 8 M12 1248431,119129578 23 12 - 8 15
K1680.10605121 C 3|4 RAL 7021 5 M12x1,5 12484 31,119129578 13 12 - 8 15
K1680.10606121 C H3|M RAL 7021 6 M12x1,5 12484 31,11912957 8 18 12 - 8 15
K1680.10608121 C H3|M RAL 7021 8 M12x1,5 12484 31,11912957 8 23 12 - 8 15
K1680.1060616 C 3|4 RAL 7021 6 M16 1662341526166 7 10 18 16 - 15 35
K1680.1060816 C H3|M RAL 7021 8 M16 16623 41526166 7 10 23 16 - 15 35
K1680.1061016 C H3|M RAL 7021 10 M16 16 623 41526 166 7 10 28 16 - 15 35
K1680.10606161 C 3|4 RAL 7021 6 M16x1,5 16 62,3 41,526 166 7 10 18 16 - 15 35
K1680.10608161 C H3|M RAL 7021 8 M16x1,5 16 62,3 41526166 7 10 23 16 - 15 35
K1680.10610161 C H3|M RAL 7021 10 M16x1,5 16 623 41,526 166 7 10 28 16 - 15 35
K1680.1060820 C H3|M RAL 7021 8 M2 20723513302058512 23 20 - 20 60
K1680.1061020 C H3|M RAL 7021 10 M20 20723513302058512 28 20 - 20 60
K1680.1061220 C H3|M RAL 7021 12 M20 20723 513302058512 3 20 - 20 60
K1680.10608201 C H3|M RAL 7021 8 M20x1,5 20 72,3 51,3302058512 23 20 - 20 60
K1680.10610201 C H3|M RAL 7021 10 M20x1,5 20 723 51,3302058512 28 20 - 20 60
K1680.10612201 C H3|M RAL 7021 12 M20x1,5 20 72,3 51,330 2058512 3 20 - 20 60
K1680.10604102 C  FOo{2#X|RAL2004 4 M10 10395 26315109496 1 10 - 8 14
K1680.10605102 C fo{2#x|RAL2004 5 M10 1039526315109496 13 10 - 8 14
K1680.10606102 C  fo{2#x|RAL2004 6 M10 1039526315109496 18 10 - 8 14
K1680.106041012 C  F0{ 2@X|RAL2004 4 M10x1 10 39,5 26,3 1510949 6 1 10 - 8 14
K1680.106051012 C  #0{ 2#X|RAL2004 5 M10x1 10 39,5 2631510949 6 13 10 - 8 14
K1680.106061012 C  #0{ 2#X|RAL2004 6 M10x1 10 395 2631510949 6 18 10 - 8 14
K1680.10605122 C  FOo{2#X|RAL2004 5 M12 1248431,119129578 13 12 - 8 15
K1680.10606122 C fo{2#x|RAL2004 6 M12 1248431,119129578 18 12 - 8 15
K1680.10608122 C  fo{2#X|RAL2004 8 M12 1248431,119129578 23 12 - 8 15
K1680.106051212 C  #0{ 2#X|RAL2004 5 M12x1,5 12 484 31,11912957 8 13 12 - 8 15
K1680.106061212 C  #0{ 2#X|RAL2004 6 M12x1,5 12 484 31,11912957 8 18 12 - 8 15
K1680.106081212 C  #0{ 2% X|RAL2004 8 M12x1,5 12 484 31,11912957 8 23 12 - 8 15
K1680.10606162 C  H#Oo{2#X|RAL2004 6 M16 16623 41526166 7 10 18 16 - 15 35
K1680.10608162 C  fo{2#x|RAL2004 8 M16 16623 41526166 7 10 23 16 - 15 35
K1680.10610162 C  fo{2#X|RAL2004 10 M16 16623 41526166 7 10 28 16 - 15 35
K1680.106061612 C  #0{ 2#X|RAL2004 6 M16x1,5 16 623 41,526 166 7 10 18 16 - 15 35
K1680.106081612 C  #0{ 2#X|RAL2004 8 M16x1,5 16 62,3 41,526 166 7 10 23 16 - 15 35
K1680.106101612 C  #0{ 2#X|RAL2004 10 M16x1,5 16 623 41,526 166 7 10 28 16 - 15 35
K1680.10608202 C  #Oo{2#X|RAL2004 8 M20 20723513302058512 23 20 - 20 60
K1680.10610202 C  fo{2#x|RAL2004 10 M20 20723 513302058512 28 20 - 20 60
K1680.10612202 C  fo{2#X|RAL2004 12 M20 20 72,3 51,3302058512 3 20 - 20 60
K1680.106082012 C  #0{ 2#X|RAL2004 8 M20x1,5 20 723 51,3302058512 23 20 - 20 60
K1680.106102012 C  #0{ 2#X|RAL2004 10 M20x1,5 20 72,3 51,3 302058512 28 20 - 20 60
K1680.106122012 C  #0{ 2#X|RAL2004 12 M20x1,5 20 72,3 51,3 30 2058512 3 20 - 20 60
K1680.106041016 c Bf2 =2 RAL 1021 4 M10 10 39,5 26,315 10,949 6 1 10 - 8 14
K1680.106051016  C ge =@ RAL1021 5 M10 1039526315109496 13 10 - 8 14
K1680.106061016  C g2 =FRAL1021 6 M10 1039526315109496 18 10 - 8 14
K1680.1060410116  C g2 =@ RAL1021 4 M10x1 10 395 26315109496 1 0 - 8 14
K1680.1060510116  C g2 =@ RAL1021 5 M10x1 10395 26315109496 13 10 - 8 14
K1680.1060610116  C g2 =FRAL1021 6 M10x1 10 3952631510949 6 18 10 - 8 14
K1680.106051216  C ge =@ RAL1021 5 M12 12484 31,119129578 13 12 - 8 15

3/8



°

AH|QIR|A AEI K2 OIHIA ZRIK

EZS 29

FEHS Et e TEE MY D DI D2 L L1 L3 B BT H Fx30° SW1 SW2 AH By
Bt =
F12. N F2 2. N

K1680.106061216 C gt - 2F RAL 1021 6 M12 12484 31119129578 18 12 - 8 15
K1680.106081216 C ghe T2 RAL 1021 8 M12 12484 3111912957 8 23 12 - 8 15
K1680.1060512116 C gk 2 RAL 1021 5 M12x1,5 12 484 31,11912957 8 13 12 - 8 15
K1680.1060612116 C ghe 2 RAL 1021 6 M12x1,5 12 484 31,119 12957 8 18 12 - 8 15
K1680.1060812116 C g2 2 RAL 1021 8 M12x1,5 12 484 3111912957 8 23 12 - 8 15
K1680.106061616 C g2 -2 RAL 1021 6 M16 16623 41526166 7 10 18 16 - 15 35
K1680.106081616 C g2 2 RAL 1021 8 M16 16623 41526166 7 10 23 16 - 15 35
K1680.106101616 C gr2 =3 RAL 1021 10 M16 16 62,3 41,526 16,6 7 10 2,8 16 - 15 35
K1680.1060616116 C g2 -2 RAL 1021 6 M16x1,5 16 62,3 41,526 166 7 10 18 16 - 15 35
K1680.1060816116 C g2 2 RAL 1021 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 - 15 35
K1680.1061016116 C gh2 2 RAL 1021 10 M16x1,5 16 62,3 41,526 166 7 10 2,8 16 - 15 35
K1680.106082016 C g2 2 RAL 1021 8 M20 20723 51,3302058512 23 20 - 20 60
K1680.106102016 C g2 2 RAL 1021 10 M20 20 72,3 51,3302058512 2,8 20 - 20 60
K1680.106122016 c gh2 2 RAL 1021 12 M20 20 72,3 51,3302058512 3 20 - 20 60
K1680.1060820116 C g2 -2 RAL 1021 8 M20x1,5 20 72,3 51,3 302058512 23 20 - 20 60
K1680.1061020116 C ge h-_E* RAL 1021 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 - 20 60
K1680.1061220116 C gh2 2 RAL 1021 12 M20x1,5 20 72,3 51,3 302058512 3 20 - 20 60
K1680.106041084 C AMESWZRAL3020 4  M10 10 39,5 26,3 15 10,9 49 6 1 10 - 8 14
K1680.106051084 C AMESWZTRAL3020 5 M10 10 39,5 2631510949 6 1,3 10 - 8 14
K1680.106061084 C MESWZRAL3020 6  M10 10 39,5 26,31510,949 6 1,8 10 - 8 14
K1680.1060410184 C AMES WZERAL3020 4 M10x1 10 39,5 26,3 15 10,9 49 6 1 10 - 8 14
K1680.1060510184 C AMESWZTRAL3020 5 M10x1 10 39,5 26,3 1510949 6 1,3 10 - 8 14
K1680.1060610184 C MES WZRAL3020 6 M10x1 10 39,5 26,31510,949 6 1,8 10 - 8 14
K1680.106051284 C MESWZRAL3020 5 M12 12 484 31,11912957 8 1,3 12 - 8 15
K1680.106061284 C AMESWZTRAL3020 6  M12 12 484 3111912957 8 1,8 12 - 8 15
K1680.106081284 C MESWZRAL3020 8 M12 12 484 31,11912957 8 23 12 - 8 15
K1680.1060512184 C AMESWZRAL3020 5 M12x1,5 12 48,4 31,119 12957 8 1,3 12 - 8 15
K1680.1060612184 C AMESWZERAL3020 6 M12x1,5 12 484 3111912957 8 1,8 12 - 8 15
K1680.1060812184 C MES WZRAL3020 8 M12x1,5 12 48,4 31,119 12957 8 2,3 12 - 8 15
K1680.106061684 C MESWZRAL3020 6 M16 16 62,3 41,526 166 7 10 1,8 16 - 15 35
K1680.106081684 c AMESWZTRAL3020 8 M16 16 62,3 41,526 166 7 10 2,3 16 - 15 35
K1680.106101684 C MES WZRAL3020 10 M16 16 62,3 41,526 166 7 10 2,8 16 - 15 35
K1680.1060616184 C AMESWZRAL3020 6 M16x1,5 16 62,3 41,526 166 7 10 1,8 16 - 15 35
K1680.1060816184 C AMES WZERAL3020 8 M16x1,5 16 62,3 41,526 166 7 10 2,3 16 - 15 35
K1680.1061016184 C AES Wz RAL3020 10 M16x1,5 16 62,3 41,526 16,6 7 10 2,8 16 - 15 35
K1680.106082084 C AMESWZRAL3020 8 M20 20 72,3 51,3302058512 2,3 20 - 20 60
K1680.106102084 C AMESSWZFRAL3020 10 M20 20 72,3 51,3 302058512 2,8 20 - 20 60
K1680.106122084 C AMES WZFRAL3020 12 M20 20 72,3 51,3302058512 3 20 - 20 60
K1680.1060820184 C AES WZRAL3020 8 M20x1,5 20 72,3 51,330 20,58512 2,3 20 - 20 60
K1680.1061020184 C Al S Wz RAL 3020 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 - 20 60
K1680.1061220184 C AES Wz RAL 3020 12 M20x1,5 20 72,3 51,3 302058512 3 20 - 20 60
K1680.106041086 C Alad s RAL6032 4  M10 10 39,5 26,3 15 10,9 49 6 1 10 - 8 14
K1680.106051086 c Alod s RAL6032 5 M10 10 39,5 26,31510,949 6 1,3 10 - 8 14
K1680.106061086 C Alad s RAL6032 6 M10 10 39,5 2631510949 6 1,8 10 - 8 14
K1680.1060410186 C Alad s RAL6032 4 M10x1 10 39,5 26,3 15 10,9 49 6 1 10 - 8 14
K1680.1060510186 C Alod s RAL6032 5 M10x1 10 39,5 26,3 1510949 6 1,3 10 - 8 14
K1680.1060610186 C Alad s RAL6032 6 M10x1 10 39,5 26,31510,949 6 1,8 10 - 8 14
K1680.106051286 C Alod sMRAL6032 5 M12 12 484 3111912957 8 1,3 12 - 8 15
K1680.106061286 c Alod s RAL6032 6 M12 12 484 3111912957 8 1,8 12 - 8 15
K1680.106081286 C Alad s RAL6032 8 M12 12 484 31,11912957 8 23 12 - 8 15
K1680.1060512186 C Alod s RAL6032 5 M12x1,5 12 484 3111912957 8 1,3 12 - 8 15
K1680.1060612186 C Al1d S RAL6032 6 M12x1,5 12 484 31,119 12957 8 1,8 12 - 8 15
K1680.1060812186 C Alad s RAL6032 8 M12x1,5 12 48,4 31,119 12957 8 2,3 12 - 8 15
K1680.106061686 C Alod s RAL6032 6 M16 16 62,3 41,526 166 7 10 1,8 16 - 15 35
K1680.106081686 c Al1d sMRAL6032 8 M16 16 62,3 41,526 166 7 10 2,3 16 - 15 35
K1680.106101686 C Alad s RAL6032 10 M16 16 62,3 41,526 166 7 10 2,8 16 - 15 35
K1680.1060616186 C Alad s RAL6032 6 M16x1,5 16 62,3 41,526 166 7 10 1,8 16 - 15 35
K1680.1060816186 C Al s RALB032 8 M16x1,5 16 62,3 41,526 16,6 7 10 2,3 16 - 15 35
K1680.1061016186 C Alad s RAL6032 10 M16x1,5 16 62,3 41,526 166 7 10 2,8 16 - 15 35
K1680.106082086 C Alod s RAL6032 8 M20 20 72,3 51,3302058512 2,3 20 - 20 60
K1680.106102086 c Al sMRAL6032 10 M20 20 72,3 51,3 302058512 2,8 20 - 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/8



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

°
AH|QIR|A AEI K2 OIHIA ZRIK
Z5 09
FEHS Et e THE MY D D1 D2 L LT L3 B BT H Fx30° SW1 sSW2 A% Ehd
Bt sz
F12. N F2 2. N
K1680.106122086 C Alad sMRAL6032 12 M20 20 72,3 51,3 30 20,5 8512 3 20 - 20 60
K1680.1060820186 C Alad s2 RAL6032 8 M20x1,5 20 72,3 51,330 20,5 8512 23 20 - 20 60
K1680.1061020186 C Al =M RAL6032 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 - 20 60
K1680.1061220186 C Al 5 RAL 6032 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 - 20 60
K1680.106041087 C MES D2 RAL5017 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 - 8 14
K1680.106051087 C MES O RALS5017 5  M10 10 39,5 26,3 1510949 6 1,3 10 - 8 14
K1680.106061087 C AMES O RALS5017 6 M10 10 39,5 26,3 1510949 6 1,8 10 - 8 14
K1680.1060410187 C AMES D2 RAL5017 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 - 8 14
K1680.1060510187 C AMES o2 RAL5017 5 M10x1 10 39,5 26,3 1510949 6 1,3 10 - 8 14
K1680.1060610187 C AMES o2 RALS5017 6 M10x1 10 39,5 26,3 1510949 6 1,8 10 - 8 14
K1680.106051287 C AMES O RAL5017 5 M12 12 484 3111912957 8 1,3 12 - 8 15
K1680.106061287 C MES O RALS017 6 M12 12 484 3111912957 8 1,8 12 - 8 15
K1680.106081287 C AMES I RALS5017 8  M12 12 484 3111912957 8 23 12 - 8 15
K1680.1060512187 C AMES I RAL5017 5 M12x1,5 12 484 31,1 1912957 8 1,3 12 - 8 15
K1680.1060612187 C AMES O RALS5017 6 M12x1,5 12 48,4 31,1 1912957 8 1,8 12 - 8 15
K1680.1060812187 C AMES o2 RAL5017 8 M12x1,5 12 48,4 31,1 1912957 8 23 12 - 8 15
K1680.106061687 C MSS o2t RAL5017 6 M16 16 62,3 41526 166 7 10 1,8 16 - 15 35
K1680.106081687 C AMES O RALS5017 8  M16 16 62,3 41,526 166 7 10 2,3 16 - 15 35
K1680.106101687 C AMES D2 RAL5017 10 M16 16 62,3 41,526 166 7 10 28 16 - 15 35
K1680.1060616187 C AMES o2 RAL5017 6 M16x1,5 16 62,3 41,526 166 7 10 1,8 16 - 15 35
K1680.1060816187 C AMES mE RAL5017 8 M16x1,5 16 62,3 41,526 166 7 10 2,3 16 - 15 35
K1680.1061016187 C AMES o3 RAL 5017 10 M16x1,5 16 62,3 41,526 166 7 10 28 16 - 15 35
K1680.106082087 C MES D2 RALS5017 8  M20 20 72,3 51,330 2058512 23 20 - 20 60
K1680.106102087 C AMES 2 RAL5017 10 M20 20 72,3 51,330 20,5 8,512 2,8 20 - 20 60
K1680.106122087 C AMES D2 RAL5017 12 M20 20 72,3 51,330 2058512 3 20 - 20 60
K1680.1060820187 C AMES mE RAL 5017 8 M20x1,5 20 72,3 51,3 30 20,5 8512 2,3 20 - 20 60
K1680.1061020187 C (&5 o3 RAL 5017 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 2,8 20 - 20 60
K1680.1061220187 C AMES O3 RAL 5017 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 - 20 60
K1680.106041088 C 248t 3| M RAL 7035 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 - 8 14
K1680.106051088 C Q48 3| M RAL 7035 5 M10 10395 26315109496 13 10 - 8 14
K1680.106061088 C 248t 3| M RAL 7035 6 M10 1039526315109496 18 10 - 8 14
K1680.1060410188 C Q48 3| M RAL 7035 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 - 8 14
K1680.1060510188 C 948t 3| M RAL 7035 5 M10x1 10 39,5 26315109496 13 10 - 8 14
K1680.1060610188 C Q48 3| M RAL 7035 6 M10x1 10 3952631510949 6 18 10 - 8 14
K1680.106051288 C 248t 3| M RAL 7035 5 M12 12484 31119129578 13 12 - 8 15
K1680.106061288 C Q48 3| M RAL 7035 6 M12 12484 31119129578 18 12 - 8 15
K1680.106081288 C 018t 3| RAL 7035 8 M12 12 484 3111912957 8 23 12 - 8 15
K1680.1060512188 C 248t 3| M RAL 7035 5 M12x1,5 12 484 31,11912957 8 13 12 - 8 15
K1680.1060612188 C 248t 3| M RAL 7035 6 M12x1,5 12 484 31,119 12957 8 18 12 - 8 15
K1680.1060812188 C 018t 3| RAL 7035 8 M12x1,5 12 484 31,1 1912957 8 273 12 - 8 15
K1680.106061688 C 248t 3| M RAL 7035 6 M16 16623 41526166 7 10 18 16 - 15 35
K1680.106081688 C 948t 3| M RAL 7035 8 M16 16623 41526166 7 10 23 16 - 15 35
K1680.106101688 C Qist S[MRAL7035 10 M16 16 62,3 41,526 166 7 10 28 16 - 15 35
K1680.1060616188 C 248t 3| M RAL 7035 6 M16x1,5 16 62,3 41,526 16,6 7 10 18 16 - 15 35
K1680.1060816188 C 943t 3| M RAL 7035 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 - 15 35
K1680.1061016188 C 1%t 3| RAL 7035 10 M16x1,5 16 62,3 41,526 166 7 10 28 16 - 15 35
K1680.106082088 C 248t 3| M RAL 7035 8 M20 20723 51,3302058512 23 20 - 20 60
K1680.106102088 C 48t 3| RAL7035 10 M20 20 72,3 51,3 302058512 28 20 - 20 60
K1680.106122088 C Q1%t 2| RAL 7035 12 M20 2072351,3302058512 3 20 - 20 60
K1680.1060820188 C 248t 3| M RAL 7035 8 M20x1,5 20 72,3 51,3 302058512 23 20 - 20 60
K1680.1061020188 C Q48 3| RAL 7035 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 28 20 - 20 60
K1680.1061220188 C Q15t 2| RAL 7035 12 M20x1,5 20 72,3 51,3302058512 3 20 - 20 60
K1680.1070410 D 43| RAL 7021 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.1070510 D 43| M RAL 7021 5 M10 1039526315109496 13 10 17 8 14
K1680.1070610 D A3|M RAL 7021 6 M10 1039526315109496 18 10 17 8 14
K1680.10704101 D 3| M RAL 7021 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.10705101 D 3| M RAL 7021 5 M10x1 10 3952631510949 6 13 10 17 8 14
K1680.10706101 D A3|M RAL 7021 6 M10x1 10395 26315109496 18 10 17 8 14
K1680.1070512 D 43| RAL 7021 5 M12 12484 31119129578 13 12 19 8 15
K1680.1070612 D 3| M RAL 7021 6 M12 12484 31119129578 18 12 19 8 15
K1680.1070812 D 43| RAL 7021 8 M12 12484 3111912957 8 23 12 19 8 15

5/8



°
A1 A AR 2t QIHA ZRIK
E=E 9%

FEHS Eted THE MY D D1t D2 L L1 L3 B BTH Fx30° SW1 SW2 AI": e

E}A: —E—E

F1 °F. N F22. N
K1680.10705121 D A3 RAL 7021 5 M12x1,5 12 48,4 31,119 12957 8 1,3 12 19 8 15
K1680.10706121 D 3| M RAL 7021 6 M12x1,5 12 48,4 31,119 12957 8 1,8 12 19 8 15
K1680.10708121 D 3| RAL 7021 8 M12x1,5 12 48,4 31,119 12957 8 23 12 19 8 15
K1680.1070616 D 3| RAL 7021 6 M16 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.1070816 D A3|M RAL 7021 8 M16 16 62,3 41,526 16,6 7 10 2,3 16 24 15 35
K1680.1071016 D A3 RAL 7021 10 M16 16 62,3 41,526 166 7 10 2,8 16 24 15 35
K1680.10706161 D 3| M RAL 7021 6 M16x1,5 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.10708161 D 3| M RAL 7021 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.10710161 D 3| RAL 7021 10 M16x1,5 16 62,3 41,526 16,6 7 10 2,8 16 24 15 35
K1680.1070820 D 3| RAL 7021 8 M20 20 72,3 51,33020,58512 23 20 30 20 60
K1680.1071020 D 3| M RAL 7021 10 M20 20 72,3 51,330 20,58512 28 20 30 20 60
K1680.1071220 D A3 RAL 7021 12 M20 20723 51,3302058512 3 20 30 20 60
K1680.10708201 D 3| M RAL 7021 8 M20x1,5 20 72,3 51,3 30 20,5 8512 23 20 30 20 60
K1680.10710201 D A3|M RAL 7021 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 30 20 60
K1680.10712201 D 3| RAL 7021 12 M20x1,5 20 72,3 51,3 302058512 3 20 30 20 60
K1680.10704102 D Foi 2EX| RAL2004 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.10705102 D Fo0{ 2#X|RAL2004 5 M10 10 39,5 2631510949 6 1,3 10 17 8 14
K1680.10706102 D F0{ 2#IX|RAL2004 6 M10 10 39,5 26,31510,949 6 1,8 10 17 8 14
K1680.107041012 D Fo{ QBX| RAL2004 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.107051012 D Foi{ 2#X|RAL2004 5 M10x1 10 39,5 26,3 15 10,9 49 6 1,3 10 17 8 14
K1680.107061012 D #0{ 2#IX|RAL2004 6 M10x1 10 39,5 26,31510,949 6 1,8 10 17 8 14
K1680.10705122 D F0{ QBX|RAL2004 5 M12 12 484 31,11912957 8 13 12 19 8 15
K1680.10706122 D Foi{ 2BX| RAL2004 6 M12 12 48,4 31,1 19 129 5,7 8 1,8 12 19 8 15
K1680.10708122 D F0{ 2#X|RAL2004 8 M12 12 484 31,11912957 8 23 12 19 8 15
K1680.107051212 D F0{ QBX|RAL2004 5 M12x1,5 12 48,4 31,11912957 8 13 12 19 8 15
K1680.107061212 D F0{ 2B#IX|RAL2004 6 M12x1,5 12 484 31,11912957 8 18 12 19 8 15
K1680.107081212 D #0{ 2#IX| RAL2004 8 M12x1,5 12 48,4 31,11912957 8 23 12 19 8 15
K1680.10706162 D Fo{ QEIX| RAL2004 6 M16 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.10708162 D F0{ 2#IX|RAL2004 8 M16 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.10710162 D #0{ 2#IX|RAL2004 10 M16 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.107061612 D F0{ 2B#IX|RAL2004 6 M16x1,5 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.107081612 D F0{ 2BIX| RAL2004 8 M16x1,5 16 62,3 41,526 16,6 7 10 2,3 16 24 15 35
K1680.107101612 D #F0{ 2#IX| RAL 2004 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.10708202 D Foi{ 23X RAL2004 8 M20 20 72,3 51,3 30 20,5 8,512 23 20 30 20 60
K1680.10710202 D F0{ 2BIX|RAL2004 10 M20 20 72,3 51,330 20,58512 28 20 30 20 60
K1680.10712202 D #F0{ 2#IX|RAL2004 12 M20 20 72,3 51,33020,58512 3 20 30 20 60
K1680.107082012 D Fo{ QBIX| RAL2004 8 M20x1,5 20 72,3 51,3 30 2058512 23 20 30 20 60
K1680.107102012 D F0{ 2#IX| RAL 2004 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 30 20 60
K1680.107122012 D #0{ 2#IX| RAL 2004 12 M20x1,5 20 72,3 51,330 20,58512 3 20 30 20 60
K1680.107041016 D g2 =3 RAL 1021 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.107051016 D g2 2 RAL 1021 5 M10 10 39,5 26315109496 1,3 10 17 8 14
K1680.107061016 D g2 2 RAL 1021 6 M10 10 39,52631510,949 6 1,8 10 17 8 14
K1680.1070410116 D g2 2 RAL 1021 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.1070510116 D e 2 RAL 1021 5 M10x1 10 39,5 26,31510,949 6 1,3 10 17 8 14
K1680.1070610116 D g2 2 RAL 1021 6 M10x1 10 39,5 26315109496 1,8 10 17 8 14
K1680.107051216 D g2 =3 RAL 1021 5 M12 12 484 3111912957 8 1,3 12 19 8 15
K1680.107061216 D g2 2 RAL 1021 6 M12 12484 31119129578 18 12 19 8 15
K1680.107081216 D g2 2 RAL 1021 8 M12 12484 31119129578 23 12 19 8 15
K1680.1070512116 D gre =3 RAL 1021 5 M12x1,5 12 48,4 31,119 12957 8 1,3 12 19 8 15
K1680.1070612116 D g2 2 RAL 1021 6 M12x1,5 12 484 31,11912957 8 18 12 19 8 15
K1680.1070812116 D g2 2 RAL 1021 8 M12x1,5 12 48,4 31,11912957 8 23 12 19 8 15
K1680.107061616 D gre =& RAL 1021 6 M16 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.107081616 D g2 2 RAL 1021 8 M16 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.107101616 D gre =3 RAL 1021 10 M16 16 62,3 41,526 166 7 10 2,8 16 24 15 35
K1680.1070616116 D g2 =2 RAL 1021 6 M16x1,5 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.1070816116 D g2 2 RAL 1021 8 M16x1,5 16 62,3 41,526 16,6 7 10 2,3 16 24 15 35
K1680.1071016116 D g2 =3 RAL 1021 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.107082016 D g2 2 RAL 1021 8 M20 20 72,3 51,3 30 20,5 8,512 23 20 30 20 60
K1680.107102016 D g2 2 RAL 1021 10 M20 20 72,3 51,33020,58512 28 20 30 20 60
K1680.107122016 D g2 2 RAL 1021 12 M20 20723 51,33020,58512 3 20 30 20 60
K1680.1070820116 D g2 2 RAL 1021 8 M20x1,5 20 72,3 51,3 30 20,5 8512 2,3 20 30 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 6/8



°
ZHQl A A8 K23 Q1A SR
EZS 29
FEHS Et e THE MY D D1 D2 L LT L3 B BT H Fx30° SW1 sSW2 A% Ehd
Bt =2
F1 9 N F29. N
K1680.1071020116 D g2 =@ RAL1021 10 M20x1,5 20 72,3 51,330 20,56 8512 28 20 30 20 60
K1680.1071220116 D g2 =@ RAL1021 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 30 20 60
K1680.107041084 D AIZSWZRAL3020 4 M10 10 395 263 1510949 6 1 10 17 8 14
K1680.107051084 D  AIZSWZRAL3020 5 M10 10 3952631510949 6 13 10 17 8 14
K1680.107061084 D AISSWZRAL3020 6 M10 10 395 2631510949 6 18 10 17 8 14
K1680.1070410184 D  AZSWZ RAL3020 4 M10x1 10 395 2631510949 6 1 10 17 8 14
K1680.1070510184 D  AZSWZ RAL3020 5 M10x1 10395 26315109496 1,3 10 17 8 14
K1680.1070610184 D  AlZSWZRAL3020 6 M10x1 10395 26315109496 1,8 10 17 8 14
K1680.107051284 D  AIZSWZRAL3020 5 M12 12484 31119129578 13 12 19 8 15
K1680.107061284 D  AIZSWZRAL3020 6 M12 12484 31119129578 18 12 19 8 15
K1680.107081284 D  AIZSWZRAL3020 8 M12 12484 31119129578 23 12 19 8 15
K1680.1070512184 D  AZSWZ RAL3020 5 M12x1,5 12484 31,11912957 8 1,3 12 19 8 15
K1680.1070612184 D  AZSWZ RAL3020 6 M12x1,5 12484 31,11912957 8 1,8 12 19 8 15
K1680.1070812184 D  AlZSWZ RAL3020 8 M12x1,5 12484 31,11912957 8 23 12 19 8 15
K1680.107061684 D  AIZSWZRAL3020 6 M16 16 623 41526166 7 10 18 16 24 15 35
K1680.107081684 D AIZSWZRAL3020 8 M16 16 623 41526166 7 10 23 16 24 15 35
K1680.107101684 D  AIZSWZRAL3020 10 M16 16 623 41,526 166 7 10 28 16 24 15 35
K1680.1070616184 D  AZSWZ RAL3020 6 M16x1,5 16 62,3 41526166 7 10 1,8 16 24 15 35
K1680.1070816184 D  AlZSWZ RAL3020 8 M16x1,5 16 62,3 41526166 7 10 23 16 24 15 35
K1680.1071016184 D  AZSWZ RAL3020 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.107082084 D  AIZSWZRAL3020 8 M20 20723513302058512 23 20 30 20 60
K1680.107102084 D  AIZSWZRAL3020 10 M20 20723 513302058512 28 20 30 20 60
K1680.107122084 D  AIZSWZ RAL3020 12 M20 20723 513302058512 3 20 30 20 60
K1680.1070820184 D  AZSWZ RAL3020 8 M20x1,5 20 72,3 51,3302058512 23 20 30 20 60
K1680.1071020184 D  AlZSWZ RAL3020 10 M20x1,5 20 72,3 51,330 205 8512 28 20 30 20 60
K1680.1071220184 D  AZSWZ RAL3020 12 M20x1,5 20 72,3 51,330 205 8512 3 20 30 20 60
K1680.107041086 D  AlZ'd =AM RAL6032 4 M10 10 395 2631510949 6 1 10 17 8 14
K1680.107051086 D  AlZ'd =4 RAL6032 5 M10 1039526315109496 13 10 17 8 14
K1680.107061086 D  AlZ'd = RAL6032 6 M10 1039526315109496 18 10 17 8 14
K1680.1070410186 D  AlZ'd =AM RAL6032 4 M10x1 10 39,5 26,3 1510949 6 1 10 17 8 14
K1680.1070510186 D  AlZ'd =AM RAL6032 5 M10x1 10395 26315109496 13 10 17 8 14
K1680.1070610186 D A2 A RAL6032 6 M10x1 10395 26315109496 18 10 17 8 14
K1680.107051286 D  AlZ'd =4 RAL6032 5 M12 12484 31119129578 13 12 19 8 15
K1680.107061286 D  AlZ'd <A RAL6032 6 M12 12484 31119129578 18 12 19 8 15
K1680.107081286 D  AlZ'd =4 RAL6032 8 M12 12484 31119129578 23 12 19 8 15
K1680.1070512186 D A2 =4 RAL6032 5 M12x1,5 12484 31,11912957 8 1,3 12 19 8 15
K1680.1070612186 D Al =4 RAL6032 6 M12x1,5 12484 31,11912957 8 1,8 12 19 8 15
K1680.1070812186 D A2 =4 RAL6032 8 M12x1,5 12484 31,11912957 8 23 12 19 8 15
K1680.107061686 D  Al7'd =4 RAL6032 6 M16 16623 41526166 7 10 18 16 24 15 35
K1680.107081686 D  AlZ1'd <A RAL6032 8 M16 16 623 41526166 7 10 23 16 24 15 35
K1680.107101686 D  AlZ'd <A RAL6032 10 M16 16 623 41,526 166 7 10 28 16 24 15 35
K1680.1070616186 D Al =4 RAL6032 6 M16x1,5 16 62,3 41526166 7 10 1,8 16 24 15 35
K1680.1070816186 D A1’ =4 RAL6032 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.1071016186 D  AlZ'd A4 RAL6032 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.107082086 D  AlZ'd =4 RAL6032 8 M20 20723 513302058512 23 20 30 20 60
K1680.107102086 D  AlZ'd =44 RAL6032 10 M20 20 723 513302058512 28 20 30 20 60
K1680.107122086 D  AlZ'd =4 RAL6032 12 M20 20 723 513302058512 3 20 30 20 60
K1680.1070820186 D  Al1'd =4 RAL6032 8 M20x1,5 20 72,3 51,3 302058512 23 20 30 20 60
K1680.1071020186 D  AlZ'd =4 RAL6032 10 M20x1,5 20 72,3 51,330 205 8512 28 20 30 20 60
K1680.1071220186 D  Al7'd =S4 RAL6032 12 M20x1,5 20 72,3 51,330 2056 8512 3 20 30 20 60
K1680.107041087 D  AIZS M RAL5017 4  M10 10 395 26,3 1510949 6 1 10 17 8 14
K1680.107051087 D  AIZS D@ RAL5017 5 M10 10 3952631510949 6 13 10 17 8 14
K1680.107061087 D  AIZS M RAL5017 6 M10 10 395 2631510949 6 18 10 17 8 14
K1680.1070410187 D  AZS mMZ RAL5017 4 M10x1 10 39,5 2631510949 6 1 10 17 8 14
K1680.1070510187 D  AZS D RAL5017 5 M10x1 10 3952631510949 6 13 10 17 8 14
K1680.1070610187 D  AZS M RAL5017 6 M10x1 10395 26315109496 1,8 10 17 8 14
K1680.107051287 D  AIZS M RAL5017 5 M12 12484 31119129578 13 12 19 8 15
K1680.107061287 D  AIZS M RAL5017 6 M12 12 484 3111912957 8 18 12 19 8 15
K1680.107081287 D  AIZS M RAL5017 8 M12 12 484 3111912957 8 23 12 19 8 15
K1680.1070512187 D  AlZS M RAL5017 5 M12x1,5 12484 31,11912957 8 1,3 12 19 8 15
K1680.1070612187 D  A=S M RAL5017 6 M12x1,5 12484 31,11912957 8 1,8 12 19 8 15

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 7/8



°
2H|QIE A AR K2} OIEA SR
Z= 29

FEHS Et e THE MY D D1 D2 L LT L3 B BT H Fx30° SW1 sSW2 A% Ehd
Bt 5=

F19. N F29. N
K1680.1070812187 D M35 o2t RAL5017 8 M12x1,5 12 48,4 31,119 12957 8 23 12 19 8 15
K1680.107061687 D AMES o2 RAL5017 6 M16 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.107081687 D ASS o RAL5017 8  M16 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.107101687 D 455 o2 RAL5017 10 M16 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.1070616187 D A5S & RAL5017 6 M16x1,5 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.1070816187 D 455 ot& RAL5017 8 M16x1,5 16 62,3 41,526 16,6 7 10 2,3 16 24 15 35
K1680.1071016187 D 435 o2 RAL5017 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.107082087 D AES o2 RAL5017 8  M20 20723 51,3302058512 23 20 30 20 60
K1680.107102087 D 455 ot& RAL5017 10 M20 20 72,3 51,330 20,58512 28 20 30 20 60
K1680.107122087 D 435 o2 RAL5017 12 M20 20 72,3 51,33020,58512 3 20 30 20 60
K1680.1070820187 D A5S o2& RAL5017 8 M20x1,5 20 72,3 51,3302058512 23 20 30 20 60
K1680.1071020187 D 435 o2& RAL5017 10 M20x1,5 20 72,3 51,3 30 20,5 8512 28 20 30 20 60
K1680.1071220187 D A5 S m@ RAL5017 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 30 20 60
K1680.107041088 D Q48t 3|M RAL 7035 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.107051088 D 45t 2| RAL 7035 5 M10 10 39,5 26315109496 1,3 10 17 8 14
K1680.107061088 D Q48 3| RAL 7035 6 M10 10395 2631510949 6 1,8 10 17 8 14
K1680.1070410188 D Q48t S| M RAL 7035 4 M10x1 10 39,5 26,3 15 10,9 49 6 1 10 17 8 14
K1680.1070510188 D 45t 2|AM RAL 7035 5 M10x1 10 39,5 26,31510,949 6 1,3 10 17 8 14
K1680.1070610188 D Q48 3| RAL 7035 6 M10x1 10 39,5 26,3 1510,949 6 1,8 10 17 8 14
K1680.107051288 D Q45 3|M RAL 7035 5 M12 12484 31119129578 13 12 19 8 15
K1680.107061288 D o4t 2|M RAL 7035 6 M12 12484 31119129578 18 12 19 8 15
K1680.107081288 D Q48 3| RAL 7035 8 M12 12484 31119129578 23 12 19 8 15
K1680.1070512188 D 45t 3|M RAL 7035 5 M12x1,5 12 48,4 31,11912957 8 13 12 19 8 15
K1680.1070612188 D 45t 2| RAL 7035 6 M12x1,5 12 484 31,11912957 8 18 12 19 8 15
K1680.1070812188 D Q45 3|4 RAL 7035 8 M12x1,5 12 48,4 31,11912957 8 23 12 19 8 15
K1680.107061688 D 45t 3|M RAL 7035 6 M16 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.107081688 D 45t 2| RAL 7035 8 M16 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.107101688 D 48t 3| RAL7035 10 M16 16 62,3 41,526 166 7 10 28 16 24 15 35
K1680.1070616188 D 45t 3|M RAL 7035 6 M16x1,5 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.1070816188 D o4t 3| RAL 7035 8 M16x1,5 16 62,3 41,526 16,6 7 10 2,3 16 24 15 35
K1680.1071016188 D Q48 3| RAL 7035 10 M16x1,5 16 62,3 41,526 166 7 10 28 16 24 15 35
K1680.107082088 D Q45 3|M RAL 7035 8 M20 20723 513302058512 23 20 30 20 60
K1680.107102088 D odst 3[4 RAL7035 10 M20 20 72,3 51,3302058512 28 20 30 20 60
K1680.107122088 D it 3| RAL7035 12 M20 20 72,3 51,3302058512 3 20 30 20 60
K1680.1070820188 D o4t 3|M RAL 7035 8 M20x1,5 20 72,3 51,33020,58512 23 20 30 20 60
K1680.1071020188 D o4t 3|A4f RAL 7035 10 M20x1,5 20 72,3 51,3302058512 28 20 30 20 60
K1680.1071220188 D 48t 3| RAL 7035 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 30 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 8/8



